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This paper contains 75 questions.
Before starting the paper ensure that all questions are in proper sequence.

Blank papers, clipboards, log tables, calculators, mobiles or any electronic device are not allowed.
Before starting the paper, fill up the required details in the blank spaces provided on the OMR sheet.
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No query related to question paper of any type is to be made to the invigilator.
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The respective number of significant figures for
the numbers 6.320, 3.032, 0.0006032 are :
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(1)3,4,8 (2)4,4,8
(3) 4,4, 4 (4)4,3,4
Dimensions of "Power" are —

(1) M'L°13 (2) M°LT?
(3) MLT® (4) ML™T1?

. . L
In an experiment to estimate 'g' (from g = 4n° rel ),

if error in measurement of L is +2% & error in

measurement of T is +3%. Then estimated error

in 'g' will be -
(1) +8% (2) +6%
(3) £3% (4) £5%

If n main scale divisions coincide with (n + 1)
vernier scale division. The least count of vernier
caliper, when one centimetre on the main scale
is divided into five equal parts will be:

@) ™™ (e T
1
(B) 5, mm (4) g, mm

Class : Xl
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l Paper Code

(1)3,4,8 (2)4,4,8
(3)4,4,4 (4) 4, 3, 4
“grfey” oY fomT 8 —

(1) M'L’13 (2) M°LT?
(3) MLT® (4) ML™T1?

‘g B (g = w% ) ST R DRI, AR L Ao

HHR +2% BARTHAUAH IR £3% 8, @l 'g S A H
Ffeer—

(1) + 8% (2) +6%

(3) £3% (4) +5%

IfE n G T fI9TTd (n + 1) IFRR @ d fawrea & a1
A @ 2 | IR BTIR 7 TeuaHie BN, STd 7 991 1R
T HEHIER Bl Ui aRTeR |11 3 TR fa siran g |

1) ™™ B T
5 1
) 5, mm (4) g, mm
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5. A particle starting from rest with constant @ 5. ORTHTGRET A YR B 0 @ROT & 19 1R B T BT
acceleration travels a distance 'x' in first '2' GRIYH'2 ﬁfﬁﬂgﬁﬂﬁaﬁﬁ@xﬁmm'?mﬁm
seconds and y in next '2' seconds :- Wy, d—
(y=x (2)y=2x (y=x (2)y=2x
(3) y=3x (4 y=4x (3) y=3x 4 y=4x
6. The displacement x of the particle in a straight 6. RelXERITH fxf Bor b1 faRemus x = 1-t-t2 8 | PR 89
line motion is given by x = 1-t-t?. The correct 71T B I B ATl AT 2 (TBT t = FHY)-
representation of the motion is :
XA XA XA XA
(1) ) z (1) ) z
t t t t
X/J XA X/J XA
(3) 4 (3) 4
—>t t —>t t
7. Two identical balls are shot upward one after | 7. 2T U A Ie] Bl FETER HUR P 3R U FHH U2 IR, Th
another at an interval of 2 seconds along the same A TT40 m/s H 2 JHTE & <RI 9 YeIfyd a3 )
path and with same velocity 40 m/s. The height ERTTA ¥ b SalTs TR &M IV ShI 2 -
at which the balls collide is :
(1) S0m (2) 75m (1) S0m (2) 75m
(3) 100m (4) 125m (3) 100m (4) 125m
Y% &1 B fory 57T/ Space For Rough Work
2
o) Y,
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Figure shows the displacement (x)-time (t) graph | 8.

of the particle moving on the x-axis.

X

C— t

(1) The particle is at rest.

(2) The particle is continuously going along
x-direction.

(3) The velocity of the particle increases upto time
t, and then becomes constant.

(4) The particle moves at a constant velocity up to
a time t, and then stops.

A body is projected at an angle of 30° with the

horizontal with momentum p. At its highest point

the magnitude of momentum is :
J3

2
(1) TP 2) ﬁp

@)p ) 5

Class : Xl

2411

x-31eT TR 71T PR I8 BV BT FARITI (x)-9999 (t) ash fosd &
ENIRIEIDIEE

] Paper Code

o 1§
(1) YT fRMIERRI TR &
(2) TR x-faen & e My wr 3@ 8

(3) YT DI AT t, FHA Teb IS & TN SHD U] 17l B SATell
g

(4) 0TI t,, Teb Uep 711 a7 A TR PRl & T=AT I UL
faRTTarRe 311 ST &

Qe A% p HATT H &IfeTST 1 30° I0T IR Heifue o1 el &, 1 &

ofi g R S AT T URHATOT 8T

3 2
(1) gp @ 7P
@)p 4) 5

Y% &1 & forg 5178/ Space For Rough Work
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The maximum height attained by a projectile is
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increased by 10% by increasing its speed of
projection, without changing the angle of
projection. The percentage increases in the
horizontal range will be :

(1) 20% (2) 15%

(3) 10% (4) 5%

Velocity and acceleration of a particle at

1

some instant of time are \7=(3i+43)ms_ and

5=—(6i+8]’)ms_2 respectively. At the same

instant particle is at origin. Maximum
x—coordinate of particle will be :

(1) 1.5m (2) 0.75 m

(3)2.25m 4)4 m

A body of mass m is thrown upwards at an angle 6
with the horizontal with velocity v. While rising

up the velocity of the mass after t seconds will be :

(1) J(vcos0)? + (vsin6)?

(2) \/(Vcose - Vsine)2 —gt

(3) \/VQ +g°t% — (2vsinf)gt

(4) \/VQ +g%t? — (2vcos O)gt

Class : Xl
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10. T Ve gRTUT S,aTs H, ST Heruvl a1e 961 ) 10% Jfg

11.

12.

P ST B, STET YETT0T ToT FHI T STl & | Uere &) &t
IR | gfererd yRad— T

(1) 20% 2) 15%

(3) 10% (4) 5%

oY &79T UR U T & T T R A T:

v =(8i+4]) ez mvs ! gorra = (61 + 8j) Hrex Fwve
S &R BV A fI7g IR e | BV B x—Faerias i Afderer A1
BT :

(1) 1.5 Hrex (2) 0.75 #ex

(3) 2.25 Hiex (4) 4 Hrex

m ST B Ueb A AITcrot 3 0 SI0T UR v O 3 Herfd &1 STl
2| IR D HW D MR A B SR 't T YL T 81T

(1) \/(VCOS 0)? + (vsin 0)?

(2) \/(VCOSG ~vsin6)? — gt

(3) \/V2 + g2t2 —(2vsin 0)gt

4) \/VQ + gzt2 —(2vcos0)gt

Y% &1 B [y 5178/ Space For Rough Work
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13. A particle moves in the XY—plane according to the | 13.
law x = kt, y = kt(1 — at), where k and o are positive
constants and t is time. The trajectory of the
particle is :
ax?
(1) y =kx (Q)YZX—T
2
ox
@) y=-—~ (4)y =ax
14. A ball of mass m is projected from the ground with | 14.

an initial velocity u making an angle of 6 with the
vertical. What is the change in velocity between
the point of projection and the highest point ?
(1) u cosd downward
(2) u cosbupward
(3) u sinb upward
(4) u sind downward
15. Friction coefficient depends on :
(1) external applied force on object
(2) velocity of object
(3) Normal reaction on object
(4) roughness of contact surface.

15.

2411

TP G0 XY-dA H x = kt, y = kt(l - ot) FHIHROT & JMIR TR
Ty PRATR, ST&l k T o ITHD FAcier & T t FHI S | BT
D VT U B FHIBRIT BT

] Paper Code

2

(1) y = kx (2)y=x—%

OLX2

@) y=-—
k

T m SIHH Bl 11Q Y] | IedlgR 1 0 IV g1 T u 1 H

TEIT @1 SRl € | 1 & eyl fwg a1 & Soad fag &

e BT B I H TR B ?

“4)y=ax

(1) u cosd T B 3R

(2) u cosd FHUX P AR

(3) u sind HIR DI 3R

(4) u sin6d A B 3R

Y07 I[OTieh R R @

(1) 9% W ST 9180 9
(2) T D TR

(3) srfrer ufcifshan gt W
(4) FHID T B FREN T TR

Y% &1 & forg 5178/ Space For Rough Work
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Which is not unit of force.
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(1) Newton (2) dyne
m
K Kg x
(3) Kex 5o (4) Kex o3

If surface is smooth, then net force on 3 kg object
will be :

F=20N, [55] 3ke

ANNANNRNNNNNNNNNNNNNNNNNNN
(1)4 N (2) 12N
(3) 30N (4) 20 N
If triangular wedge is moving with constant

acceleration 'a' such that block is at rest relative
to wedge, then 'a’ is :

10m 6™
052 265
(3) 8 S_Q 4) 7.5 s%

Class : Xl

Paper Code
2411

16. 9 a9 B 9=d TSI & —

(1) e (2) S1E
Arex Hrex

X oo x

(8) o x 4) —
. If T8 TYUIEI 81 1 3kg S @ 9% TR BRI G I

ERIE

F=20N, [, | 3ke

AN ANANNNNNNNNNNNNNNNNNNNNN

(1)4N (2) 12N
(3) 30 N (4) 20 N

. A PSR 351 fFd @=or 9 59 TR TR 8 o 5! =

AT R I 9 I & Wriel faRm AR dl 'a' STAFE

WV

—>a
(N
10m 6 1L
03 2 2© 3
m m
8 — 7.5 —
38 @753

Y &I P fory T8/ Space For Rough Work
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19. If object in system are at rest then mass of B will | 19.
be :
(1) 5 kg (2) 12 kg
(3) 20 kg (4) 10 kg
20. It all surfaces are smooth then acceleration of | 20.
5 kg will be :
A
Skg
B
2g g
(1) 5 @) 3
g Sg
@5 @

Class : Xl

2411

IS 73 A IuRRerd S axgt faxm H 21 1 B &1 &M &l 919
R —

l Paper Code

(1) S kg
(3) 20 kg

(2) 12 kg
(4) 10 kg
IS T T TYeEN 21l 5 o avg o1 @R B —

A
S kg

P77777777777777777

B
2
s @ 5
5
@ > ) 22

Y% &1 & forg 5178/ Space For Rough Work
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| 4
21. A chord is used to lower vertically a block of mass
M by distance of d with constant downward 21. W@ﬁﬁ\_ﬂ@M A& Eﬁwaﬁaﬁ I @R A

DT3R d X T faenia fovan S & | SR & gRTaw TR foban

acceleration g The work done by the chord on TR —
the block is :
Mgd Mgd
(1) — M~
4Med 4Med
2 — @ =5
_4Med _4Med
(B) ——3 S
(4) Mgd (4) Mgd
22. Aforce F = (6i+2j—-3Kk)N acts on a particle which | 22. e T& de1 F = (61 +2j— 3k)N bHdl P01 IR TR I
displaces it by S=(2i-6j)m. Work done by this S = (2i - 6j)m faRenfoa &, Ta fPar T eRi & —
force is :
(1) =3 joule (1) -3 Sfet
(2)0 (2)0
(3) 24 joule (3) 24 g
(4) —24 joule (4) 24 ST

Y &I P fory T8/ Space For Rough Work
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23. A block of mass M moving with velocity V on smooth | 23.

24.

25.

*
.

¥

Tecno’'24

Talent Exploring CLC.
National Olympiad 2024

cLC [

surface collides with spring as shown above, then

maximum compression in spring is :

K
M s
1 Smooth surface
M 2M
1) ,J2—.V —V
(1) |2 @ %

M M
3) \/%-V @) |V

An object of mass m completes a vertical circle of
radius R. The difference of maximum and
minimum tension in string is :

(1) 5 mg (2) 4 mg

(3) 7 mg (4) 6 mg

A block of mass M (initially at rest) is attached
with a spring of spring constant K and free end of
spring is dragged with constant velocity V. The
maximum elongation in spring is :

K
M 0000 “—>V
1\

Smooth surface

M M
1) oY @) &V

MV MV
@) | @ o

Class : Xl

24.

25.

2411
M S &1 Teh e V I | THUIE I Hag IR feiie 8 3R
g FerT TR g 18 Rem S e B | RerT 3 eifdarcs wdre
S

] Paper Code

K
VAN
A o wds
M oM
(1) 25V @) %V

M M
(8) J;-V @ Vv

m S DI U a%g R 3501 &1 Seafer g guf eell 8 | SN

ST Ud =T TTE T 3TN BIRT —
(1) 5 mg (2) 4 mg
(3) 7 mg (4) 6 mg

SR TR R A M &9 o el (ARw] 9 e fRmrawer §
2) REvT & |1y 9T 2 31 R & vt R fad avr v & dien
ST @, 5T 4 atfdrered TR g —

K
M 0000 >V
0
TYEIA s
M M
(1) ﬁ-‘/ (2) \/%-V
5 MV 2 MV
(3) K (4) oK

Y% &1 & forg 5178/ Space For Rough Work
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CHEMISTRY (Q.26 TO Q.50)

NX is produced by the following step of reactions
M+X, —> MX,
3MX, + X, —— M;Xg
M; Xg + N,CO; —— NX + CO, + M;0,
How much M (metal) is consumed to produce 206
gm of NX. (Take at wt of M = 56, N=23, X = 80)

CLC
Tecno’'24 [

(1) 42 gm (2) 56 gm
14 7
(3) 3 gm (4 7 gm

A nugget of gold and quartz was found to contain x
g of gold and y g of quartz and has density d. If the

Class : Xl

26.

27.

2411
CHEMISTRY (Q.26 TO Q.50)

It NX /=1 fad 7y erfafepan el & g a=ar 8
M+X, —> MX,
3MX, + X, ——> M;X,
M, Xg + N,CO; —— NX + CO, + M,0,
206 gm NX IcUT& 11 & g fore=n M (a1q) Wga gIRf ?
(e T grg HTHR M = 56, N=23, X = 80)
(1) 42 gm (2) 56 gm

] Paper Code [

14 7
(3) 3~ gm 4 5 gm

0T FAT FETE S DI T THIE (T178), WOl B x g T FE@CA Dy g
Y Bl © 91 gcd d BIT © | AfS ol Jert qarest &1 g

densities of gold and quartz are d; and d, A d, TAT d, B 1 FE ey e g —
respectively then the correct relation is :
X Yy X+y Xy X+y
Mg "4, d Mg "4, d
(2) xd; +yd, = (x+y)d (2)xd; +yd, = (x+y)d
X y X+y X y _X+y
- 4L = 7 - 4L = 7
B a, "4, d B a, "dq, d
X+y X X+y X
+—+-—=0 +—+—=0
79 T4, "4, 79 T4, " q,
¥% @13 @ fory 5r71g / Space For Rough Work
10
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In an organic compound of molar mass greater
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28.
than 100 containing only C, H and N, the
percentage of C is 6 times the percentage of H while
the sum of the percentages of C and H is 1.5 times
the percentage of N. What is the least molar mass?
(1) 175 (2) 140
(3) 105 (4) 210
1 mol of iron (Fe) reacts completely with 0.65 mol | 29.
O, to give a mixture of only FeOand Fe,O;. Mole
ratio of ferrous oxide to ferric oxide is
(1)3:2 (2)4:3
(3)20:13 (4) none of these
500 ml of 0.1 M KCI, 200 ml of 0.01 M NaNO, and
500 ml of 0.1 M AgNO, was mixed. The molarity of
K', Ag’, CI', Na’, NO;™ in the solution would be
(1) [K']=0.04 [Ag'] = 0.04 [Na'] = 0.002
[CI]=0.04 [NO;] =0.042
(2) [K']=0.04 [Na] =0.00166
[NO;]=0.0433
(3) [K']=0.04 [Ag'] = 0.05 [Na'] = 0.0025
[CIT]=0.05[NO;7]=0.0525
(4) [K'] = 0.05[Na'] = 0.0025
[NO;1=0.0525
What is the ratio of mass of an electron to the mass

30.

31.
of a proton ?

(1)1:2

2)1:1

(3) 1:1837

“4)1:3

Class : Xl
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U BTaHD AID THDT HeR ST 100 H 31 & AT &1
C, H vaq N gad €, C ST ufcrerd, H & IfRId 9 6 T § | Safds
N &1 gfrerd, C T H & UfRrd AR 1.5 A1 8 | 994 54
T HIeR G T 81 |

] Paper Code

(1) 175 (2) 140
(3) 105 (4) 210
3R (Fe) @1 1 |1, 0.65 HIdl O, & |1 YUy ¥ o
TR IR B FeO T Fe, 0, BT As01 <1 3 | Hew sifage

TN GRS HTFATSS BT Al U 1 & —
(1)3:2 (2)4:3
(3)20: 13 (4) STHH DTS 7TEl

0.1 MKC1% 500 ml, 0.01 M NaNO, & 200 m1 @211 0. 1
M AgNO, & 500 ml ! 370H 3 fiermar S 2 | faeras §
K',Ag",Cl",Na", NO, &I AIe=dl &1 8l :
(1) [K'] = 0.04 [Ag'] = 0.04 [Na'] = 0.002
[Cr] =0.04 [NO, ] = 0.042
(2) [K'] = 0.04 [Na'] = 0.00166
[NO,] =0.0433
(3) [K'] = 0.04 [Ag'] = 0.05 [Na‘] = 0.0025
[Cr] =0.05 [NO, ] = 0.0525
(4) [K*] = 0.05 [Na'] = 0.0025
[NO,] = 0.0525
goldgI g UICi & S| BT T &

(1) 1:2
2 1:1
(3) 1:1837
@) 1:3

Y% @1 P fory T8/ Space For Rough Work
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34.

35.
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Number of protons neutrons and electrons in the
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element 89X231 is

(1) 89, 89, 242 (2) 89, 142, 89

(3) 89,71, 89 (4) 89, 231, 89

The value of planck's constant is 6.63 x 1073* Js.
The velocity of light is 3.0 x 108 ms™!. Which value
is closest to the wavelength in nanometers of a
quantum of light with frequency of 8 x 10° 87! ?

(1) 3 x 107 (2) 2 x 1072

3) 5 x 1078 (4) 4 x 10*

If the radius of the 3™ Bohr's orbit of hydrogen atom
is ry and the radius of 4™ Bohr's orbit is r, then.

9 16
(1) &, = 16r3 (2) & =—9 I,

3 4
) =Zr3 4) % =§r3

Select the incorrect graph for velocity of e in an

. 1
orbit vs. Z,; andn :

(2)

(4)

n

Class : Xl

32.

33.

34.

35.

2411

o X231 A HIET gE1H d Setag = ol e e 8 —

] Paper Code

(1) 89, 89, 242 (2) 89, 142, 89
(3) 89, 71, 89 (4) 89, 231, 89
AT FTIdTd BTAM 6.63 x 107 JS & UBTA BT AT 3.0 x
108 ms™' 2 8 x 10'5 7! &7 377axlt arel yebTe B AA B

AR # AR @1 frwedH AF HIar g ?
(1) 3 x 107 (2)2 x 1072
3) 5 x 1078 (4) 4 x 10*

I BTSSIT 1 AR AT8R et Bl (3T 1, & 3R =Alefl ey
Fer ! AT r, T

9 16
(1) &, = 16r3 (2) & =—9 I,

3 4
) =Zr3 4) & =§r3

U D&l H gotag [ & a2l Z,% TATn P TG TTeold UTH BT
AT P

(1)

(2)

n 1/n

(4)

Y &I P fory T8/ Space For Rough Work
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The total number of orbitals present in the fifth | 36. Ufed ®rerH IUReIT Berehi o ol AT BN —

shell will be :

(1) 25

(2) 10

(3) 50

(4) 20

The correct order of increasing energy of atomic
orbital is —

(1) 4p<4f<b6s<5d

(2) Sp<bs<4f<4d

(3) Sp<Sd <4f<6s

(4) Sp<6s<4f<5bd

In which of the following processes, the value of
magnetic moment does not change ?

(1) Ny > N, (2) N, - N,*

(3) 0, > O," 4) 0,7 > 0,

The electronic configuration of three elements are
as follows :

L: 1522522p6351

M: 1s22s22p4

N: 1522522p63523p1

Choose the correct formula of the ionic compounds
formed by the above given elements where the
cations are written first as usual.

(1) N;M,, LM (2) ML,,M;N,,

(3) LN, M,L (4) N,M,, L,M

37.

38.

39.

(1) 25
(2) 10
(3) 50
4) 20
URHATOGY Herehi B Hoft b ded gY P B foy Fel 8 —

(1) 4p<4f<b6s<5d
(2) S5p<bs<4f<4d
(3) Sp<Sd <4f<6bs
(4) Sp<6s<4f<5bd
=1 4 31 o st # graranra oot uRafcia i e 2

(1) N, > Ny~ (2) N, > N,°
(3) 0y, —> 02+ (4) 02+ -0y
A @l & SefagiMe A fA e -

L: 1522522p6351

M: 1822822p4

N: 1522522p63523p1

SR & T FI=aT & MR WR J1rafsas W] dl 8 G 1
T BT, AT R g9 D1 Ugol o Siran g |

(1) NyM,, LM
(3) LN, M,L

(2) ML,,M;N,,
(4) N,M;, L,M

Y% @1 P fory T8/ Space For Rough Work
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Which of the following compounds are planar as
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well as non—polar ?
(1) XeF,

(3) XeF5 (4) XeF5
Which of the following set of molecules have the

(2) XeO,

same shape but different hybridization ?
(1) H,0, SiCl, (2) XeO,, BrF,
(3) XeO,, SF, (4) BeCl,, XeF,
What are the different kinds of bonds and
interaction present within CuS0O,.5H,0 ?
I. s bond

II. m bond

III. Coordinate bond

IV. Electrostatics force attraction

V. Hydrogen bond (dipole-dipole)

VI. Hydrogen bond (ion—dipole)

(1) L, II, III only

(2) 1L, IIT and IV only

(3) I, V and VI only

(4) All kinds of forces of attraction are present.

Class : Xl

40.

41.

42.

Paper Code
2411

T 3 D ITT 370] FHATA T & 1 ST 5?2

(1) XeF, (2) XeO,

(3) XeFg (4) XeFs

FFfRad 9 A BT T3] D1 T T MR fl Ry =T
BV I & ?

(1) H,0, SiCl, (2) XeO,, BrF,

(3) XeO,, SF, (4) BeCl,, XeF,
CuSO0,.5H,0 ¥ Iufterd fafi= 9wi & SNaR R S 99
JuRerd g ?

I odd

I n9Y

111, SUHEHATTD g8

IV. Rerd degda i 3y ol

V. grgge 9 (faga—faya)

VI. gggio a9 (MI—fgeg)

(1) daa 1, 11, 111

(2) dae 11, 111 T=I IV

(3) dad II, V a1 VI

(4) T TDBR B TP g1 SURATR |

Y BT P o1 T8/ Space For Rough Work
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Each of the following options contains a set of four

Tecno’'24
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molecules. Identify the option(s) where all four
molecules possess permanent dipole moment at
room temperature :

(1) CO,, NH;, C4Hg, CH,Cl

(2) SO,, C,H:CI, H,Se, BrFy

(3) BF;, O5, SF¢, XeFq

(4) BeCl,, CO,, BCl,, CHCI,

Match the orbital overlap figures shown in List-I
with the description given in List-II and select the
correct answer using the code given below the
lists.

List-I List-II

P. 1. p—d mantibonding
Q. 2. d—d o bonding
R 3. p—dwbonding
S. 4. d—d o antibonding

(1) P-2, Q-1, R-3, S—4
(3) P-2, Q-3, R-1, S—4

(2) P-4, Q-3, R-1, S-2
(4) P-4, Q-1, R-3, S-2

Class : Xl

43.

44,

2411
1 faspedl 3 AR S1vjsll & W= & fawen 3 fI Mg € |
AR a9 R, {59 (1) e, (Rravedl) @ ot =R s1gati ot
I fgga—amgri 2, 39 (S) I |

l Paper Code

(1) CO,, NH,, C.H,, CH,CI

(2) SO,, C,H.CI, H,Se, BrF,

(3) BF,, O, SF,, XeF,

(4) BeCl,, CO,, BCl,, CHCI,

AT -1 9 S Fef STt (orbital overlap) 3Tafc &1
0 -11 H ST IO A GAe BIfory ae Gl & e A are
BT IR G Fel IR I -

A -1
P. 1. p—dnufaafd
Q. 2. d—dodfa
R. 3. p—dndatm@
S. 4. d—d o ufefRma

(1) P-2, Q-1, R-3, S—4
(3) P-2, Q-3, R-1, S—4

(2) P-4, Q-3, R-1, S-2
(4) P-4, Q-1, R-3, S-2

Y% &1 & forg 5178/ Space For Rough Work
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45.

46.

47.

48.

49.

50.

*
*
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Least electronegative element is :

(1)1 (2) Br

(3) C (4) Cs

Which of the following represents an excited state

Talent Exploring CLC
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of an atom.

(1) [Ne] 3s?3p°®4s23d® (2) [Ne] 3s%3p°®4s'3d°

(3) [Ne] 3s?3p°®4s23d! (4) 1s?2s?2p?3s!

Among the following which has the maximum
hydration energy.

(1) Mg™ (2) Be™

(3) Na* (4) Ca*™

Predict the group, period of an element having
atomic number 64.

(1) 16t group, 4th period (2) 11t group, 3rd period
(3) 3™ group, 6™ period  (4) 4™ group, 7™ period
In which of the following pair, both the species are
isoelectronic but the first one is large in size than

the second.
(1) 8%, 0% (2) CI, s*
(3) F, Na" (4) N>, P>

Which of the following is the incorrect statement?

(A) The second ionisation potential of an atom is
always less than the first ionisation potential.

(B) The addition of an electron to a neutral atom
is always an endothermic process.

(C) Fluorine has the maximum electronegativity

(D) The size of the cation is always greater than
the size of the neutral atom.

(1)A,Band D (2) Only A and B

(3) Only A and C 4)A,B,Cand D

Class : Xl

45.

46.

47.

48.

49.

50.

Paper Code
2411

for e @1 <o faglaR ol B :

(1) I (2) Br

(3) C (4) Cs

1T 3 9 =71 U e 1 ST Faeel] 1 eRid el 2 |

(1) [Ne] 3s%3p°4s?3d®  (2) [Ne] 3s?3p°4s'3d°
(3) [Ne] 3s?3p°®4s23d! (4) 1s?2s?2p?3s!
71 5 A frd ) e Serio Sl § |

(1) Mg™ (2) Be*?
(3) Na* (4) Ca*™
URHATY] hHTh 64 dTed Ted @ FoTq a3 T JATa T FERoT i —

(1) 16 ai a3, 4 gi 3rrardt (2) 11 g 97, 3 ai 31rert

(3) 3 a, 6di 3 (4) 4 9i e, 7 9 37racd

1 R A gt H, <1 RuReT Fgelag e & | oifdhe verd
PR fGIT A TSI 2 |

(1) 8%, 0% () CI, s*
(3) F, Na" (4) N>, P>
o T o QDI eI DU B

(A) TS TR T fET1 ST fava o1 H1H, Wi I fava 9
O HH BT T
(B) ST U=RAT] H & T TR Uk A SHT 8T |

(C) TARNIT o fAgTH T SearcH eIl &
(D) SR T 3TTPTR BT IS URHATY] H IS B 6 |

(2) daAA T B
(4)A, B, CTaID

(1) A, BG2nD
(3) ®act A G C

Y BT P o1 T8/ Space For Rough Work
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51.
52.

53.

54.

y‘ . |CLC i

j/t Tecno'24 Class : XI
BIOLOGY (Q.51 TO Q.75)

Which group divide by fission : 51.

(1) Bacterial cell, chloroplast, mitochondria
(2) Ribosome, Chloroplast, Mitochondria

(3) Vacuole, Chloroplast, Bacteria

(4) Vacuole, Lysosome, Mitochondria
Thyalkoids are :

(1) Flattend memebranus sacs in chloroplast
(2) Flattend membranus sac in mitochondria
(3) Flattend membranous sac in Amyloplast
(4) Flattend membranous sac in prokaryote
Interphase nucleus has a loose and indistinct
network of nucleoprotein fibre is called :

(1) Chromatin

(2) Chromosome

(3) Nucleosome

(4) Nucleoid

—A
—B

A & B are respectively :

(1) A-Polar head, B-Non-polar (Saturated)
hydrocarbon Tail

(2) A-Non Polar Head, B-Polar (Saturated)
hydrocarbon Tail

(3) A-Polar(PO, ) Head, B-Non Polar (Unsaturated)
hydrocarbon Tail

(4) A Polar(PO,") Head, B-Polar (Unsaturated)
hydrocarbon Tail

52.

53.

54.

2411
BIOLOGY (Q.51 TO Q.75)

T 5 & DI g WU gIR1 AT i e -
(1) Shrare] Hifre1, gRdetad, GAD 0T

(2) TTSaRIM, ERAAaD, FADIOTH!

(3) e, eRaera®, Siraro

(4) RfexrepT, TITDTY, GAD 0TI
DIECCIERES

(1) Tu, fRreeime et S0 eRdctasm §

(2) TS, fereeti T el ST GBI H

(3) TUL, fereciiv el Skl AUSedd H

(4) T, fEreetma it il i Rare #
SIRTERT BT Dsieh Yeb Slell Well g ~fFAAIICI Bl g oIl
R T 2, I8 heAR @ :

(1) prfes

(2) g

(3) Ifrerarar

(4) D=a™

l Paper Code |

(2) A g R, B-4d1d (W) B8 SIdIe 1 a1l oo

(3) A-gda (PO,,") RAR, B-31d1Y (3IIGwI) BISgIpTad Dl gl

i
(4) A-gdra (PO,,") RiR, B-gdI (3rAgw) BTSSIdTa B a1

R5sd

Y% @1 P fory T8/ Space For Rough Work
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] Paper Code

atonal e 2024 2411
55. Flat worms have flame cells for the purpose of : 55. Wmﬁwiﬁﬁlﬁaﬁ PIPRIE —
(1) Excretion (1) S
(2) Digestion (2) gra=
(3) Osmoreguletion (3) TRTERY e
(4) Both Excretion & Osmoreguletion (4) IS qAT IRTERT 97 =
56. Scales which are modified into teeth of vertebrates | 56. ¥ g @ IRIX IR IURIT Tew gid § WURT 81 911 & —
are present on the body of :
(1) Labeo (1) af3ar
(2) Petromyzon (2) dgraTgIT
(3) Scoliodon (3) wBIfergrsiT
(4) Ichthyophis (4) gl
57. Persence of radial symmetry and lack of cnidoblast | 57. 3RNIIAMAT &I SuRf den MSee &1 31 frad! e g
are the characteristic of : :
(1) Aurelia & Paramecium (1) SIRfergraen gerfaferas
(2) Hydra & Starfish (2) BISSI TAT AR ASAI
(3) Sepia & Sea anemone (3) IR ?Tﬁ';ﬁ@'ﬂﬁ
(4) Pleurobrachia & Ctenoplana 4) Wﬁﬁfsﬁ 3R e
58. Read the following statements. 58. @i drufey:
(a) Metagenesis is observed in Helminths. (@) ﬁaaﬁmmﬁwmél
(b) Echinoderms are triploblastic and coelomate (b) THTSAISH FHPRS Td [ERI S 8l &
animals
(c) Round worms have organ-system level of body (c) Tﬁ?@‘mﬁwwweﬂ CEEIRIES
organization.
(d) Comb plates present in ctenophores help in (d) TEIHR ¥ IuRerd daod ufSeHTs UTae H T d el &
digestion.
(e) Water vascular system is characteristic of (e) STl HIE O3 Yhrgired &l [ARTEa 2Rl 2 |
Echinoderms.
(1) (a),(b) and (c) are correct (1) (a),(b) Wd (c) TET B
(2) (a), (d) and (e) are correct (2) (a), (d) Td (e) TS T |
(3) (b), (c) and (e) are correct (3) (b), (c) Wd (e) WEI T |
(4) (c), (d) and (e) are correct (4) (c), (d) Td (e) TR B |
¥% @13 @ fory 5r71g / Space For Rough Work
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59.

60.

61.

(ii)
(iii)

(iv)

/.| CLC
%\ Tecnoz4 [ Class : XI
Match the following columns and select the correct | 59
option :
Column-I Column-II
(a) 6-15 pairs of (i) Trygon
gill slits
(b) Heterocercal (ii) Cyclostomes
caudal fin
(c) Air Bladder (iii)Chondrichthyes
(d) Poison sting (iv) Osteichthyes

(1) a-iv, b-ii, c-iii,d-i

(2) a-i, b-iv, c-iii,d-ii

(3) a-ii, b-iii, c-iv, d-i

(4) a-iii, b-iv, c-i, d-ii

A ciliated columnar epithelium tissue are present
in :

(1) Fallopian tube

(2) Proximal convolated tubules

(3) Blood vessele

(4) Lungs alveoli

Match the column-I with column-II and select the
correct option :
Column-I Column-II
Tip of nose (P) Hyaline cartilage
Inter vertebral disc (Q) Calcified cartilage

(R) White fibrous catilage
Epiglottis (S) Elastin cartilage

(1) =S, ii-P, iii-R, iv—S

(2) i-S, ii-R, iii-P, iv—S

(3) i-S, ii-P, iii-Q, iv-R

(4) i-S, ii-Q, iii-R, iv—P

Rings of trachea

Paper Code
2411

=1 Tl 1 FAeT™ &R 8 fadred ol T el

wWH-1 wWH-II
BESIEIEEED (i) e

6-15 T
(b) EeRIDHE Y25 UM (ii) WTETARERA
(c) arg3mery (iii)Brgraeist
(d) Rusw (iv) 3ifReaefist

(1) a-iv, b-ii, c-iii,d-i
(2) a-i, b-iv, c-iii,d-ii
(3) a-ii, b-iii, c-iv, d-i
(4) a-iii, b-iv, c-i, d-ii

60. P GeHTADIT WTHR UGS STID AT SIal 8
(1) g anfe=h
(2) FHTUR UsTerd AfeTet
(3) e arfe=n
(4) BFERIE HfvaTd
61. WR-1 DI T-11 & A1 ™ HITY den T8l faded &l 7=
DI |
-1 TaA-I1
(i) T or (P) T IUTRe
(ii) SR BT &b Q) dediigpd IuRer
(iii) TaTTel & Bool (R) =dd agwa SuTlRey
(iv) vftreifes (S) U= IuTRe

(1) i-S, ii-P, iii-R, iv-S
(2) i-S, ii-R, iii-P, iv-S
(3) i-S, ii-P, iii-Q, iv-R
(4) i-S, ii-Q, iii-R, iv-P

Y% &1 & forg 5178/ Space For Rough Work
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Select the incorrect option :
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(1) Bones are more metabolic active than
cartilage.

(2) Ligaments connect one bone with other bone

(3) Fibers are absent in blood.

(4) Only mast cells are present in areolar
connective tissue.

Which

maintaining the rhythmic contractile activity of

the heart?

(1) Sino-atrial node (SAN)

(2) Atrio-ventricular node (AVN)

(3) Purkinje fibres

(4) Bundle of his

Cardiac activity could be moderated by the

is responsible for initiating and

autonomous neural system. Tick the correct

answer

(1) The parasympathetic system stimulates heart
rate and increase stroke volume.

(2) The sympathetic system stimulates heart rate
and increase stroke volume.

(3) The parasympathetic system decreases the
heart rate but increase stroke volume.

(4) The sympathetic system decreases the heart

rate but increase stroke volume

Class : Xl

62.

63.

64.

Paper Code
2411

ToTd fded BT Ta= BN —

(1) arRer, SuTRRer & SUTTR) U & 1fdd AP BN T |

(2) YU 1R B G TR A SIS § |
(3) Yo #oig SFURIA BT B |
(4) AT HITSN ITH H DAl AR DIRIHT SURIT BN |

TS B FUIE HGATRIA Dl YR™ B IR TR & B

U PIT Ted JMawTd

(1) Rr1-37feig 9d (SAN)

(2) anfeig e gd (AVN)

(3) Rfoi g

4) R & g

7 o warad df3et 73 g1 aRRafia & o dad & | |e
TR I Y |

(1) TR Cif3repT 3 Bed &R SRIfoTel Rl & SR FdTE! 37T
CIEENIES

(2) gHUI 3T T §&T &R DI 7T DRl 8 AR JaTe!
ST BT FETAT T |

(3) WP TfHepT T ST &R DI HH HRAT © <l JdTe!
SIRIT BT I E |

(4) 3TIHYI TP T TS S DI HH BT B <ifch=1 FaTS] SR
DIIGATE |

Y &I P fory T8/ Space For Rough Work
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65. Which information is incorrect about cardiac

66.

output?

(1) It's average value is 5000 ml

(2) The stroke volume multiplied by the heart rate,
gives the cardiac output.

(3) It is the volume of blood pumped out by each
ventricle per minute.

(4) The body has no the ability to alter the cardiac
output.

Identify A, B and C in the given below blood clotting

process.

Damaged platelets

(release)
2+
@ + Cal S5
Fibrin

A B C
(1)| Thromoplastin |Prothrombin | Fibrinogen
(2)| Thrombin Fibrinogen |[Thrombo-

Kinase
(3)| Thromboplastin| Thrombin Fibrinogen
(4)| Prothrombin Thrombin Fibrinogen

Class : Xl

Paper Code
2411

65. T3 MO S I H DI GI1 Told 5?2

66.

(1) &1 319 A1 5000 ml ©
(2) TaTE! JTITH 3R §&U &% &1 U &g T eIl &

(3) TE U e Ui fFer & 1u fohg S atel iR &1 3=
gl
(4) TRR ¥ gy (e o1 yRafid &)= &) e =1 8l 8

el &) IS Y Thad o Ufshar H A, B @1 C &1 uganig

INDESREESILN
(Hq)
@ + Ca2+ S B
TS

A B C
(1) | earetTRe e LIRERINE]
(2)|enfra= EISERINE AT DI T
(3) | eiraTeRes e CANERINE
(4) | enfie= SIESE LISERINE]

Y% &1 & forg 5178/ Space For Rough Work
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The Indian Botanical garden & National Botanical
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Research institute are located respectively at

(1) Pune & Howrah

(2) Howrah & Lucknow

(3) Darjeeling & Lucknow

(4) Shimla & Dehradun

Consider the following two statements.

i. In single celled organisms, we are not very clear
about the use of two terms-Growth & Reproduction

ii. When it comes to unicellular organisms
like bacteria, unicellular algae or amoeba,
reproduction is synonymous with growth.

(1) Both (i) & (ii) are correct

(2) (i) is incorrect but (ii) is correct

(3) (ii) is incorrect but (i) is correct

(4) Both (i) & (ii) are false.

Consider following two statements :

i. Cellular organization of Body is defining feature
of life forms.

ii. Metabolic reactions are found in non livings.

(1) Both (i) & (ii) are correct.

(2) (i) is incorrect but (ii) is correct.

(3) (ii) is incorrect but (i) is correct.

(4) Both (i) & (ii) are incorrect.

Class : Xl

67.

68.

69.

2411

AR R S Ud RS G- (el ST R Hagl:

P RRIALT

(1) I TSt

(2) TS AT TGS,

(3) a1fiferT v oramie,

(4) R wa et

frfeRad 1 el R R HifTg—

i. TAYHIRIGSal H gfg T T S a1 Tl & [Agg 3
WL TG 2 |

ii. 579 EH QhIRIG Sial oI SiiaTv], YahaIfRre daret sieral
a1 o fawg # =i Hd B, 79 S @1 gfg vataar 8 |

] Paper Code

(1) ST (i) AT (ii) TS 2 |

(2) (i) eI & TAT (i) FE T |

(3) (ii) 7TeTd & TAT (i) T T |

(4) ST (i) TAT (i) TATL |
ferafarRad g1 el R faar 1T

i. IRR BT DIRIDBIY TS Sl WU DT I A S |

ii. SuTgE) forany sronfad Siai § i St 2 |
(1) ST (i) T (if) T 2 |

(2) (i) eI & TAT (i) FE T |

(3) (ii) 7TeTd & TAT (i) T T |

(4) ST (i) TAT (i) TATL |

Y% &1 B [y 5178/ Space For Rough Work
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70.

71.

72.

73.

*
.

¥

Which of the following taxonomic categories are

Tecno’'24
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correctly matched to their standard termination
of names with respect to classification of plants :

L Division phyta

II. Class opsida

I1I. Order ales

Iv. Family phyceae
()L O&IV

(2) I, I & III

(3) IL, III & IV

(4) L, II, III & IV

Pseudopodia is formed in :

(1) Amoeboid protozoa

(2) Ciliated protozoa

(3) Sparozoans

(4) Flagellated protozoa

Ciliated protozoan move very __(i)__ because

presence of many _ (ii)__ on their body :

(i) (id)

(1) Passively Flagella
(2) Actively Cilia
(3) Passively Cilia
(4) Actively Flagella

Organisms living in salty areas are called as-
(1) Methanogens

(2) Halophiles

(3) Heliophytes

(4) Thermoacidophiles

Class : Xl

70.

71.

72.

73.

2411

o1 9 3 foram afifen) Faef utey & aFffoxor & e 7 3wy
A Ul | FE At gY

] Paper Code

I AT HIgel

II. i CIIES

111 T Sl

v. Eas| BRI
(1) 1, I 9217 IV

(2) 1, 11 @21 111
(3) 11, III @217 IV
(4) 1, 11, 111 q2IT IV
FHeuTs fordd g 2 -
BELEREIESISIE]
(2) v ATeTSIa |
(3) TRISHRN
(4) DS TIETSen §
GeATHIg UTSISHieT __(i)__ T & &, Fifdh 57 IR IR &g
_(ii)__ SURIIEI R :
(i) (ii)

(1) Ffspg ENIC

(2) Afspa TeATH

(3) Ffepa TeATH

(4) Afsha ENIC

S i STqofir @I U= Uy Wit B, e & —
O EREINE

(2) AIORTR

(3) Eferarprge

(4) TTuRFeRT

Y% &1 & forg 5178/ Space For Rough Work
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74.

75.

*
*
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Which of the following is incorrect about viroid :
(a) Molecular weight of the viroid's RNA is high.
(b) It is lacked genetic material.

(c) It is bigger than viruses.

(1) Only one statement is incorrect

(2) Only 2 statements are incorrect

(3) All statements are correct

(4) All statements are incorrect

On the basis of given diagram which of the

following statement is correct :

(1) Member of ascomycetes in which sexual
reproduction take place by ascospores
formation.

(2) Member of basidiomycetes in which karyogamy
and meiosis take place in basidium.

(3) Member of Basidiomycetes in which mycelium
is branched and aseptate.

(4) Member of deuteromycetes in which perfect
stage is absent / undiscovered.

Class : Xl

Paper Code
2411

() TTSRTSE B STR.Y.Y. BT VR S ST & |
(b) S @RI UG AL BN B |

(c) FaTRAA TSI L |

(1) % U B AT ¥ |

(2) % S B A E |

@) TN BT HIE |

(4) T P S E |

. Rz T dRITIGR:

. Ry e @ enyR R FfeRad 4 A T P Il B

(1) TTERIfeS & Hewg R <iffes o9 TR RaR fmfor
ERITI®

(2) IRafearsRifes & e R s el el TEE)
o affTm A g &

(3) Jfafearmrsiifes & wew Rrad Fas e wnfad @
PEGEERRIE

(4) SIS & Aew foraH Yol srawer srguRerd /&l
TETER |

TNE O
59 o)

S

SIKAR
N
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76.

7.

78.

*
.

MATHEMATICS (Q.76 TO Q.100)

Consider the following statements in respect of two

Tecno’'24
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non-empty sets A and B.

A. AUB=AnBiff A=B

B. AAB=¢ iff A=B

Which of the above statements is/are correct ?
(1) A only

(2) B only

(3) Both Aand B

(4) Neither A and B

Let A and B be two sets containing 4 and 2 elements
respectively. Then the number of subsets of the
set A x B, each having at least 3 elements, is :
(1) 256

(2) 275

(3) 510

(4) 219

LetA={1,2,3,4,5,6, 7 and B={3, 6,7, 9}. Then
the number of the
{CcA:CnB=¢} is:

(1) 16

(2) 128

(3) 116

(4) 112

elements in set

Class : Xl

76.

7.

78.

Paper Code

2411
MATHEMATICS (Q.76 TO Q.100)

&1 a1ferd Tzl A 3R B & ¥ ¥ fr=iforRad womi R
fraR Ay —

A. AUB=A~BIRRIIAITA=B

B. AAB=¢ IfRRIRPITIRTA=B

ST H A -1/ A FUT AL 2/ ?

(1) HaA A

(2) DI B

(3) TFIA T B

(4)Fa1 AMRAEB

AT A TN B 1 Tzad & fo=H HHen: 4 3R 2 3/99d & | 79
FI=IT A x B & SUGgzedl o1 G f5H F 9 oA 3 31add
T

(1) 256

(2) 275

(3)510

4) 219
AMA=(1,2,3,4,5,6,7dB={3,6,7,9,2|0d
= {C = A: C B = ¢} ¥ 3ragdl ol =g

(1) 16
(2) 128
(3) 116
4) 112
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l ;% Tecno'24 [ Class : XI ] 54l l
79. Th | . cos’ 10° +sin® 20° Lo - 9 cos’ 10° + sin® 20° S s
’ ¢ vValue ol = 0s10° + sin20° 'S cdUarto - " cos10°+sin20° ’
1 l 1 l
(1 3 (1 3
3 3
(2) 7 (2) 7
3 g 3 g
@) 3 @) 3
1 1
4 7 4 7
80. A diameter and a chord of a circle intersect at a | 80. Wgﬂwmﬁéﬂmwwiﬁﬁiﬁwﬂ%mq)w
point inside the circle. The two parts of the chord T 1 OfE ST & S AT o) oSt 3 TN 5 § IR e A &
are length 3 and 5 and one part of the diameter is Tdh HIT aﬁmwm%mﬁaﬁﬁw%
length unity. The radius of the circle is
(1)8 (1)8
(2) 9 (2) 9
(3) 12 (3) 12
(4) 16 (4) 16
81. If tan® = \/% where a,b are positive reals then the | 81. afd tanf = \/% STEl a,b g9 THS dRAdd GV & T4
value of sin@sec’ 6+ cosOcosec’dis sin@sec’ O + cosOcosec’® PTAMR
. (a+b)’@*+b") . (a+b)’@*+Db")
(1) (ab)”? (1) (ab)”?
(a+by@*-b") (a+by@*-b")
(2) (ab)7/2 (2) (ab)7/2
(a+by’Dd*-a’) (a+by’d*-a’)
(ab)” (ab)”?
(a+b)@*+b") (a+b)@*+b)
(4) T @y (4) T @y
¥% @13 @ fory 5r71g / Space For Rough Work
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82.

83.

84.

85.

*
.

¥

The number of real solutions of
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(3) 2

(4) infinite

The number of values of a for which

@ -3a+2)x*+ (@2 -5a+6)x+a’—4=0isan
identity in x is :

(1)o

2)1

(3) 2

4) 3

If one root of the equation x? - dx + 12 =0 is even
prime while x? + Ax + u = 0 has equal roots, then u
is :

(1) 8

(2) 16

(3) 24

(4) 32

If o, B are roots of the equation 8x> — 3x + 27 = 0,

1 1
a3 (p?)3
then the value of || B Al o is

(1) (2)

ul= Wl
Q= A

(3) (4)

Class : Xl

82.

83.

84.

85.

Paper Code
2411

FHIHRT

(1o

@1

3)2

(4) 3T

a @ A &1 G forde forg FHievoT

@ -3a+2)x’+ (@ -5a+6x+a’-4=0,x9
GENIECaES

(1yo

21

(3)2

4)3

IFE FRNHIT %% — Ax + 12 = 0 U ol TSI FH H&1 ¢ A
WWX2+XX+u=O$ﬁ%W%ﬂHuW§I

(1) 8

2) 16

(3) 24

(4) 32

afe o, p B 8x2 — 3x +

-]
—_— + J—
B a BIAME

1
3 @)

27 =0 & 3 g © 9

Q= A=

1
@) 35 )
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86.

87.

88.

89.

*
*

¥

If the equation ax? + 2bx — 3c = 0 has non real

Talent Exploring CLC
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3c
roots and Y <a+Db then cis always :

(1)<o0

(2)>0

(3)=0

(4) zero

The solution of the inequality 2x—- 1 < x2+3 <x-1
is:

(1) xeR

2) [-2,2]

@) (-2,2)

(4) xe¢

If A={xeR:|x|<2}and B={xeR:|x-2[>3}
then:

(1) AnB=(-2,-1)

(2) B-A=R-(-2,5)

(3) AUB=R-(2,5)

(4) A-B=[-1,2)

Let a > 2, a € N be a constant. If there are just 18 | 89.

positive integers satisfying the inequality
(x — a)(x — 2a)(x — a?) < 0 then which of the option is
not correct?

(1) 'a’ is prime

(2) 'a'is odd

(3) 'a’ is greater than 8

(4) 'a’ lies in the interval (3, 11)

Class : Xl

Paper Code
2411

86. IR FHHII ax? + 2bx — 3¢ = 0 IS AR(AD el T I

3
g Tc<a+b 9 ¢ BHIM BT |

(1)<0
(2)>0
(3)20
(4) =y
PP 2x—1 < x°+ 3 < x—1 BB o—

(1) xeR
(2) [-2,2]
(3) (-2,2)
(4) xe¢

. R A={xeR:|x|<2}dNB={xeR:|x-2[>3} T

(1) AnB=(-2,-1)

(2) B-A=R—(-2,5)

(3) AUB=R-(2,5)

4) A-B=[-1,2)

AT B a > 2, a € N 3R ¢ | I Had 18 g=THS TNd
3TAHGT (x — a)(x — 2a) (x — a?) < O B FIE B & 79 F1
HY B fdded T8 78l &

(1) 'a’' b 34T &1

(2) 'a’' U@ foum e

(3) 'a’ BTHME 8 A AH

(4) 'a’, RTA (3, 11) HRA T |

Y% &1 B fory 57T/ Space For Rough Work
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l 1 Tecno’24 [ Class : XI l a';_,e‘rlﬁ ©
90. Find the sum of all the real solutions of the
(x* +2)(Vx* -16) 0 .

| N " +2)(\/r) 90. ¥ 2 9) - @& Al arcfds gell B

PP T g -9) TR ST ARG |

(1) 0 (1) 0

(2)1 @1

(3) 2 (3) 2

43 4 3
91. Find the complete solution set of the inequality @ 91. 3D

1—\/21—4X—X220 1- 21—4X—X220WWW .

x+1 x+1

(1) [2v6-2, 3] (1) [26 -2, 3]

@2 -6, -1) @ [2 246, -1)

(3) [-2-2V6, -1]u[2V6 -2, 3] () [-2-2V6, -1]u[2V6 -2, 3]

@ [-2 -2v6, -1)u[2/6-2, 3] @ [-2 -2J6, -1)u[2v6-2, 3]
92. Number of positive integral values of x satisfying @ 92. 3 ifH®I

the inequality (x4, (x+8° (x+1)

42017 2016 16 3 18 = Eﬁw
(x — 4P, (x+8)*'° (x+1) <0 : "x-2)° . (x+3) . (x-6) (x+9)

-2 . (x+3) . (x-6) (x+ 9P T B ATl x o YTCHD UITeh HIHT o) e 2—

(1) 0 (1) 0

(2)1 (2) 1

(3) 2 3) 2

“4)3 4 3
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93.

94.

95.

*
*

Leta, b,cbein APand |a| <1, |b| <1, |c| < 1.
Ifx=1+a+a’
c+c?+ ... o thenx, y, Z are in
(1) A.P.
(2) G.P.
(3) H.P.

(4) A.G.P.

Talent Exploring CLC
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+...0y=1+b+b’+. . ..0,z=1+

5 7 9

i — =4
Find the sum 5 6

18 54

+.oo. o0,

15
1) 76

13
@ g

11
) 16

17
“ 16

Leta, b € R be such that a,a+2b, 2a+b arein | 95.

AP.and (b+ 1)?, ab+ 5, (a+ 1)? are in G.P.
then (a + b) equals

Class : Xl

93.

94.

2411

AT a, b, cAS AT |a| <1, |b| <1, |c| <1.
e x=1+a+a’+... o, y=1+b+b2+.. .o, z=
1+c+c2+....oo?‘|—eix,y,zﬁﬁl

(1) TR &oft 3

(2) O 907

(3) BTHD N H

(4) TR T[OTR it

3 5 7 9
+———+....®

18 54

] Paper Code

11
) 16

17
“ 16
AT a,be R SAUGRE f& a,a+2b, 2a+ b FA=R
3ot # & @ (b + 1)%, ab+ 5, (a+ 1)% TuiR ooft & €
Tl (a+b) WER T

(1) -2 (1)-2
(2)2 (2)2
(3) 4 (3) 4
47 47
¥% @13 @ fory 5r71g / Space For Rough Work
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96. Let a, beasequence such that a,=2 and a_,,;— | 96. A U 3ghH a, SH UPR & fb a, =2 @A a_,, - a,

a, = 2n forall n € N, then a,y, equals = 2n, W&l ¥ ne N &I, al a;90 BT A SRR 8
(1) 1010 (1) 1010

(2) 5050 (2) 5050

(3) 9902 (3) 9902

(4) 10100 (4) 10100

97. If the coefficients of x’ & x° in the expansion of <" . .
N 97. afy {2+—} B IERHx’ G x° B ONH RER B, A n B
X . 3
{2+§:| are equal, then the value of n is :

A BT
(1) 15 (1) 15
(2) 45 (2) 45
(3) 55 (3) 55
(4) 56 4) 56
98. The expression 98. &P (;OCO)2 - (;OCI)2 + (1202)2 e +
("Co)" =(C.) +(1C,) =t (7Cs)" = ("Co)" +(1Cy)” TR E -
(10C8) _(10C9) +(10C10)
(1)o (1)0
(2) (10C5)2 (2) (10C5)2
(3) - 1oC5 (3) - 10Cs
4) 2. °cy (4) 2. °Cq

Y% &1 & forg 5178/ Space For Rough Work
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, per Code
] 1 Tecno'24 [ Class : XI ] 411
99. 1+x)(1+x+x)(1+x+x>+x%...... (I+x+x*+ 99, 1+x)(1+x+x)(1+x+x>+x°)...... (1+x+x*+
...... + xlOO) when written in the ascending power ceeen xloo) PIoTd x a%aaﬁrgéaﬁa%mﬁ%@wm%
of x then the highest exponent of x is . Tl x BT HSTH UKD &
(1) 4950 (1) 4950
(2) 5050 (2) 5050
(3) 5150 (3) 5150
(4) 5151 (4) 5151
100. Coefficient of x° in (1 + x%)™ (1 + x*)'° will be 100. (1 + x3)'° (1 + x4)'° S 7R A x> BT OME BR1
(1) 100 (1) 100
(2) 150 (2) 150
(3) 200 (3) 200
(4) 250 (4) 250
Y% @1 B fory 51T/ Space For Rough Work
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CASH AWARDS 22400 ufafiral & fic gffgd [EaR...

& SCHOLARSHIPS 31@RA & Zonal Cash Prizes & fde CLC & yawI &t ifAarfar 71 8 safe
1.21 65 & Mega Cash Prizes 31R 31 6315 @t Scholarships & fe€ CLC Classroom Courses B W2l &1 31fAart 21

Zonal Cash Award & Special Reward*

ZRL Each Class

1 Cash Prize of 3000 + Memento + Certificate + Student Kit

2to3 Cash Prize of 2000 + Memento + Certificate + Student Kit

4tol0 Cash Prize of 1000 + Memento + Certificate + Student Kit B
11to 50 Memento + Certificate + Student Kit ;é
51t0100 Memento + Certificate E

‘RL

Rest Participants : Certificate

*Cash awards will be given after tax deduction as per Govt. Norms.
Your Zonal Rank will be mentioned in the marksheet along with your Common Rank List

1. Date & Venue for Zonal Tecno'24 Fest will be announced at the time of result declaration
2. CLC Reserves the Right for extension of Exam Zone.

Mega Cash Awards*

Class 7 Class 8 Class 9 Class 10 Class 1l Class 12

CRL Class 5 Class 6
1 75000 75000 75000 100000 100000 200000 75000 75000
2to5 35000 35000 35000 50000 50000 100000 35000 35000

6tol0 20000 20000 20000 35000 35000 50000 20000 20000
11to 20 10000 10000 10000 20000 20000 35000 10000 10000

21 to 100 5000 5000 5000 10000 10000 20000 5000 5000
101to0 150 3000 3000 3000 5000 5000 10000 3000 3000
151 to 200 NA NA NA 3000 3000 5000 NA NA
201 to 250 NA NA NA NA NA 3000 NA NA

*Cash awards will be given after tax deduction as per Govt. Norms. CRL = Common Rank List

Why Tecno... Why CLC ?

22400 31 <:l.21 ?31

ZONAL
REWARDS CRORE CRORE

PREMIUM TUITION FEE MEGA CASH ZONAL CASH
PRIVILEGES SCHOLARSHIP PRIZES PRIZES
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